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% % %
158 SHEZERAR 2%| - 1.19 26 0.46
3| - 0.86 1.4 0.48
4%| — 0.80 1.3 0.46
LHEBHEAR 2% - 1.18 3.1 0.35
3| - 0.46 15 0.15
4% — 0.14 1.1 0.01
FHEZEAR 3E| 3 1.29 2.7 0.50
=1 1.10 3.1 0.29
4%| &= 052 1.3 0.24
=1 0.43 15 0.12
5| 3 0.16 1.0 0.03
=1 0.13 10 0.01
288  S2MRFERAHK 2%| - 0.66 15 0.25
3| - 0.48 0.8 0.27
4%| — 0.44 0.7 0.25
LHEBHEAR 2F| - 0.65 1.7 0.19
3E| - 0.25 0.8 0.08
4%| — 0.08 0.6 0.01
FHEZEAR 3E| 3 0.71 15 0.28
=1 0.61 1.7 0.16
4%| &= 0.29 0.7 0.13
=1 0.24 0.8 0.07
5| 3 0.09 05 0.02
=1 0.07 05 0.01
3 2MFEIRAHK 2%| - 0.21 05 0.08
3| - 0.15 0.3 0.08
4% — 0.14 0.2 0.08
LHEBREAR 2% - 0.21 05 0.06
3E| - 0.08 0.3 0.03
4%| — 0.03 0.2 0.01
FHEZEAR 3E| 3 0.23 05 0.09
=1 0.20 05 0.05
4%| = 0.09 0.2 0.04
=1 0.08 0.3 0.02
5| 1 0.03 0.2 0.01
=1 0.02 0.2 0.01
KEBWRAHEFAK 8E| - 1.20 28 0.54
7E| — 0.70 1.7 0.36
6Z| — 0.33 0.7 0.29
458  SRHEFZEIAR 2%| - 1.09 24 0.42
3| 0.79 1.3 0.44
4%| — 0.73 1.2 0.42
588 WEWMAHEAR 8E| - 1.22 28 0.55
7E| — 0.72 1.7 0.37
6Z| — 0.35 0.7 0.30




HFEBHIDESR

SAhLp SHMA

HERRE HE%E et B
=ER SERERNFMES =ER
I N IBIAEE | smmmmn | apme | RuER | GRE
RS % sxprans | OEEOER | BER | SEREE | E@E
% % %
48 EA Ty I RAR 121 - 0.81 0.7 0.60
28| - 0.03 0.6 0.01
3%l - 0.02 0.6 0.01




HFEHDES

BOHMA
FERFE A HEES Wt B ihis
=58 SERREHRFHEE —
IN-S P
N I TIPNAE xxaammo| srme | 2uan | g
) HEIRELEE A EREOHRE RAER REWMER | AR

% % %

- EHEZEAR 2F| - 1.18 0.9 0.83
3E| - 0.52 0.8 0.35

4%| — 0.19 0.7 0.11

LHEBHEAR 2F| - 1.41 1.8 0.80

3| - 0.65 1.0 0.40

4%| — 0.25 0.8 0.14

FHEZEAR 3E| 3 1.31 1.0 0.92

=1 1.10 1.8 0.57

4%| = 0.61 0.8 0.42

=1 0.47 10 0.27

5| 1 0.24 0.7 0.15

=1 0.17 0.8 0.09

KEWALFAR 8% - 1.33 1.8 0.95

7E| — 0.81 0.7 0.76

6Z| — 0.60 0.6 0.58
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2%  S2MFERAHK 2%| - 2.62 43 1.17
3| - 1.52 2.0 0.85
4%| — 0.85 1.2 0.52
LHEBTHEAR 2F| - 2.05 43 0.72
3| - 1.03 2.0 0.47
4% — 0.45 1.1 0.22
FHEZEAR 3E| 1 2.78 48 1.18
=1 217 43 0.82
4%| &= 1.62 23 0.85
=1 1.15 1.9 0.58
5| 3 0.88 1.3 0.51
=1 0.56 1.1 0.31
3 KEBEWAHEAR 8E| - 2.20 46 0.99
7E| — 1.49 3.1 0.72
6Z| — 0.89 2.1 0.42
4%  SMFBERAXK 2%| - 2.62 43 1.17
3| - 1.52 2.0 0.85
4%| — 0.85 1.2 0.52
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58 HEALTvIRAR 121 - 0.15 0.6 0.11
28| - 0.03 0.6 0.01
3%l - 0.02 0.6 0.01
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- VT YO RARK 121 - 5.92 10 493
28| - 3.51 0.7 2.82
3%l - 2.28 0.7 1.75
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3F HEA LTy IRAR 18l - 1.07 0.7 0.80
28| - 0.36 0.6 0.27
3%l - 0.02 0.6 0.01
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- HEACTYIRARK 18l - 091 0.7 0.67
28| - 0.09 0.6 0.06
3%l - 0.02 0.6 0.01
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3F  HEA Ty IRAR 18l - 1.38 0.7 1.05
28| - 0.20 0.6 0.15
3%l - 0.02 0.6 0.01
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- VT YO RARK 121 - 1.45 0.7 1.10
28| - 0.35 0.6 0.26
3%l - 0.02 0.6 0.01
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